
Q .1Q .1 The epithet  'B l is s - G iv ing G oddes s '  is  tradit ional ly  as s oc iated with whic h of theThe epithet  'B l is s - G iv ing G oddes s '  is  tradit ional ly  as s oc iated with whic h of the
fo l lowing Himalay an peaks?fo l lowing Himalay an peaks?

A nsA ns 1. Mount Everest
2. Kanchenjunga
3. Nanda Devi
4. Annapurna

Q .2Q .2 What is  the pr imary  purpos e of the S A HYO G  portal  launc hed under  the IT  A c t ,What is  the pr imary  purpos e of the S A HYO G  portal  launc hed under  the IT  A c t ,
2 0 0 0 ?2 0 0 0 ?

A nsA ns 1. To promote digital literacy among rural youth

2. To automate the process of sending notices for removal of unlawful online content
3. To facilitate automated income tax assessments
4. To support grievance redressal related to telecom services

Q .3Q .3 The Union C abinet  on 5 January  2 0 24  approved the overarc hing s c heme,  _________ ,The Union C abinet  on 5 January  2 0 24  approved the overarc hing s c heme,  _________ ,
of  the M inis try  of  E arth S c iences  for  implementat ion dur ing the per iod 2 0 2 1 -2 6of the M inis try  of  E arth S c iences  for  implementat ion dur ing the per iod 2 0 2 1 -2 6
at  an overal l  c os t  of  ₹4 ,797  c rore.at  an overal l  c os t  of  ₹4 ,797  c rore.

A nsA ns 1. PRITHVI
2. JAL
3. AKASH
4. VAYU

Q .4Q .4 To whic h of the fo l lowing was  the S waran S ingh C ommittee related?To whic h of the fo l lowing was  the S waran S ingh C ommittee related?
A nsA ns 1. Directive Principles of State Policy

2. Fundamental Duties
3. Fundamental Rights
4. Citizenship
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Q . 5Q . 5 Whic h team was  the runner- up of Pro- Kabaddi  L eague S eas on 1 0 ?Whic h team was  the runner- up of Pro- Kabaddi  L eague S eas on 1 0 ?

A nsA ns 1. 
2. 
3. 
4. 

Q .6Q .6 Whic h of the fo l lowing c ountr ies  won the U- 1 9 C r ic ket  World  C up 2 0 24 ?Whic h of the fo l lowing c ountr ies  won the U- 1 9 C r ic ket  World  C up 2 0 24 ?
A nsA ns 1. 

2. 
3. 
4. 

Q .7Q .7 Through the 4 2Through the 4 2n dn d  C ons t itut ional  A mendment A c t ,  how many  fundamental  dut ies C ons t itut ional  A mendment A c t ,  how many  fundamental  dut ies
were added in the C ons t itut ion of Ind ia?were added in the C ons t itut ion of Ind ia?

A nsA ns 1. 9
2. 11
3. 10
4. 8

Q .8Q .8 Who among the fo l lowing S ultanate rulers  as s umed the t it le of  S ikandar  A e S ani?Who among the fo l lowing S ultanate rulers  as s umed the t it le of  S ikandar  A e S ani?
A nsA ns 1. Balban

2. Alauddin Khilji
3. Mohammad Bin Tughlaq
4. Sikandar Lodi

Q .9Q .9 In reference to  the phy s iographic  d iv is ions  of Ind ia ,  what is  the Northern C irc ar?In reference to  the phy s iographic  d iv is ions  of Ind ia ,  what is  the Northern C irc ar?
A nsA ns 1. Coastal plains

2. Island
3. Waterfalls
4. River valley
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Q .1 0Q .1 0 O n 1 3  A ugus t  2 0 24 ,  whic h of the fo l lowing minis ters  launc hed the J iy o  Pars iO n 1 3  A ugus t  2 0 24 ,  whic h of the fo l lowing minis ters  launc hed the J iy o  Pars i
s c heme portal?s c heme portal?

A nsA ns 1. Raj Nath Singh
2. Kiren Rijiju
3. Jagat Prakash Nadda
4. Nitin Jairam Gadkari

Q .1 1Q .1 1 Who among the fo l lowing s tarted the Indian S oc ia l  C onference along withWho among the fo l lowing s tarted the Indian S oc ia l  C onference along with
Raghunath Rao as  a  s ubs id iary  organ of the C ongres s  dur ing its  third  s es s ion inRaghunath Rao as  a  s ubs id iary  organ of the C ongres s  dur ing its  third  s es s ion in
M adras  in 1 887?M adras  in 1 887?

A nsA ns 1. Raja Ram Mohan Roy
2. Mahatma Gandhi
3. Keshab Chandra Sen
4. MG Ranade

Q .1 2Q .1 2 Whic h of the fo l lowing s tatements  are c orrec t  with res pec t  to  the his tory  ofWhic h of the fo l lowing s tatements  are c orrec t  with res pec t  to  the his tory  of
India?India?

( 1 )  The Dutc h founded their  firs t  fac tory  in M as aul ipatam in A ndhra Prades h in( 1 )  The Dutc h founded their  firs t  fac tory  in M as aul ipatam in A ndhra Prades h in
1 60 5.  1 60 5.  
( 2 )  A lfons o de A lbuquerque c aptured G oa from the B i japur  S ultanate.  ( 2 )  A lfons o de A lbuquerque c aptured G oa from the B i japur  S ultanate.  
( 3 )  The Br it is h E as t  Ind ia  C ompany  es tabl is hed a fac tory  in M adras  in 1 63 9 on( 3 )  The Br it is h E as t  Ind ia  C ompany  es tabl is hed a fac tory  in M adras  in 1 63 9 on
land leas ed from repres entat ives  of the V i jay anagara E mpire c al led  the Nay akas .land leas ed from repres entat ives  of the V i jay anagara E mpire c al led  the Nay akas .

A nsA ns 1. Only 2 and 3

2. Only 1 and 3
3. Only 1 and 2
4. 1, 2 and 3

Q .1 3Q .1 3 In _____________ ,  G andhi j i  gave a  c al l  for  a  s aty agraha agains t  the Rowlatt  A c t .In _____________ ,  G andhi j i  gave a  c al l  for  a  s aty agraha agains t  the Rowlatt  A c t .
A nsA ns 1. 

2. 
3. 
4. 
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Q .1 4Q .1 4 How many  ques t ions  were as ked in the C ens us  of Ind ia  2 0 1 1 ?How many  ques t ions  were as ked in the C ens us  of Ind ia  2 0 1 1 ?
A nsA ns 1. 15

2. 29
3. 32
4. 25

Q .1 5Q .1 5 Whic h of the fo l lowing s tatements  are c orrec t  as  per  the 2 0 1 1  C ens us  of Ind ia?Whic h of the fo l lowing s tatements  are c orrec t  as  per  the 2 0 1 1  C ens us  of Ind ia?

1 .  A pproximately  79 .8% of Ind ia's  populat ion identifies  as  Hindu.  1 .  A pproximately  79 .8% of Ind ia's  populat ion identifies  as  Hindu.  
2 .  The M us l im populat ion in Ind ia  is  around 1 4 .2 % of the total  populat ion.2 .  The M us l im populat ion in Ind ia  is  around 1 4 .2 % of the total  populat ion.
3.  The highes t  populat ion of C hr is t ians  in Ind ia  is  in Tamil  Nadu.  3.  The highes t  populat ion of C hr is t ians  in Ind ia  is  in Tamil  Nadu.  

A nsA ns 1. Only 1 and 2
2. Only 1 and 3
3. Only 2 and 3
4. 1, 2 and 3

Q .1 6Q .1 6 Who is  the pres ident of the Par is  2 0 24  Board of D irec tors ,  whic h is  res pons ibleWho is  the pres ident of the Par is  2 0 24  Board of D irec tors ,  whic h is  res pons ible
for  overs eeing the organis ing c ommittee of the O ly mpic  and Paraly mpic  G ames?for  overs eeing the organis ing c ommittee of the O ly mpic  and Paraly mpic  G ames?

A nsA ns 1. Sebastien Coe
2. Thomas Bach
3. Gianni Infantino
4. Tony Estanguet

Q .1 7Q .1 7 Whic h of the fo l lowing Parts  of  the Indian C ons t itut ion mentions  certainWhic h of the fo l lowing Parts  of  the Indian C ons t itut ion mentions  certain
fundamental  dut ies  of  the people?fundamental  dut ies  of  the people?

A nsA ns 1. Part III
2. Part I
3. Part II
4. Part IVA
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Q .1 8Q .1 8 What was  the emblem of the C hola dy nas ty ?What was  the emblem of the C hola dy nas ty ?
A nsA ns 1. Peacock

2. Elephant
3. Tiger
4. Crocodile

Q .1 9Q .1 9 Who was  the firs t  S upreme C ourt  judge in Ind ia  agains t  whom an impeac hmentWho was  the firs t  S upreme C ourt  judge in Ind ia  agains t  whom an impeac hment
motion was  tabled in the Par l iament?motion was  tabled in the Par l iament?

A nsA ns 1. Justice YV Chandrachud
2. Justice V Ramaswami
3. Justice JS Verma
4. Justice AM Ahmadi

Q .2 0Q .2 0 A s  per  the 2 0 1 1  C ens us  of Ind ia ,  in whic h two s tates  were female l iterac y  ratesA s  per  the 2 0 1 1  C ens us  of Ind ia ,  in whic h two s tates  were female l iterac y  rates
higher  than the other  s tates  of Ind ia?higher  than the other  s tates  of Ind ia?

A nsA ns 1. Gujarat and Maharashtra
2. Haryana and Punjab
3. Tamil Nadu and Andhra Pradesh
4. Kerala and Mizoram

Q .2 1Q .2 1 If  2  is  added to  eac h odd d igit  and 1  is  s ubtrac ted from eac h even d igit  in theIf  2  is  added to  eac h odd d igit  and 1  is  s ubtrac ted from eac h even d igit  in the
number 2 781 64 5,  what wi l l  be the s um of the d igits  that  are third  from the leftnumber 2 781 64 5,  what wi l l  be the s um of the d igits  that  are third  from the left
and third  from the r ight  in the new number thus  formed?and third  from the r ight  in the new number thus  formed?

A nsA ns 1. 10
2. 12
3. 14
4. 8

Section : Logical Reasoning
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Q .2 2Q .2 2 Refer  to  the fo l lowing letter  s er ies  and ans wer  the ques t ion.Refer  to  the fo l lowing letter  s er ies  and ans wer  the ques t ion.

( L eft)  T  B  Y  M  R E  S  I  C  X  Z  O  W A  Q  D F H G  U K ( Right)( L eft)  T  B  Y  M  R E  S  I  C  X  Z  O  W A  Q  D F H G  U K ( Right)

How many  c ons onants  in the s er ies  are immediately  preceded by  a  vowel?How many  c ons onants  in the s er ies  are immediately  preceded by  a  vowel?
A nsA ns 1. Five

2. Seven
3. Four
4. Three

Q .2 3Q .2 3 DB 5 is  related to  JH  8  in a  certain way .  In the s ame way ,  G E  1 1  is  related to  M K1 4 .DB  5 is  related to  JH  8  in a  certain way .  In the s ame way ,  G E  1 1  is  related to  M K1 4 .
To whic h of the fo l lowing is  C A  3 6 related ,  fo l lowing the s ame logic ?To whic h of the fo l lowing is  C A  3 6 related ,  fo l lowing the s ame logic ?

A nsA ns 1. IH 39
2. JG 41
3. IG 39
4. JH 41

Q .24Q .24 What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?

3 5,  3 5,  43,  43,  59 ,  59 ,  83,  83,  1 1 5,  1 1 5,  ??
A nsA ns 1. 156

2. 157
3. 155
4. 154

Q .2 5Q .2 5 E ac h vowel  in the word CO M PA NY is  c hanged to  the letter  fo l lowing it  in theE ac h vowel  in the word CO M PA NY is  c hanged to  the letter  fo l lowing it  in the
E ngl is h a lphabetic al  order  and eac h c ons onant is  c hanged to  the letter  precedingE ngl is h a lphabetic al  order  and eac h c ons onant is  c hanged to  the letter  preceding
it  in the E ngl is h a lphabetic al  order.  Whic h of the fo l lowing letters  wi l l  be fourthit  in the E ngl is h a lphabetic al  order.  Whic h of the fo l lowing letters  wi l l  be fourth
from the r ight  in the new group of letters  thus  formed?from the r ight  in the new group of letters  thus  formed?

A nsA ns 1. T

2. O
3. G
4. P
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Q .2 6Q .2 6 1 0 6 is  related to  1 3 4  fo l lowing a certain logic .  Fo l lowing the s ame logic ,  84  is1 0 6 is  related to  1 3 4  fo l lowing a certain logic .  Fo l lowing the s ame logic ,  84  is
related to  1 1 2 .  To  whic h of the given options  is  2 2 9 related ,  fo l lowing the s amerelated to  1 1 2 .  To  whic h of the given options  is  2 2 9 related ,  fo l lowing the s ame
logic ?logic ?

( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing
down the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc hdown the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc h
as  adding/s ubtrac t ing/mult iply ing to  1 3  c an be performed.  Break ing down 1 3  intoas  adding/s ubtrac t ing/mult iply ing to  1 3  c an be performed.  Break ing down 1 3  into
1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )

A nsA ns 1. 202
2. 258
3. 257
4. 201

Q .2 7Q .2 7

A nsA ns 1. 
2. 
3. 
4. 

Q .2 8Q .2 8 S elec t  the pair  that  fo l lows  the s ame pattern as  that  fo l lowed by  the two s et  ofS elec t  the pair  that  fo l lows  the s ame pattern as  that  fo l lowed by  the two s et  of
pairs  given below.  Both pairs  fo l low the s ame pattern.  pairs  given below.  Both pairs  fo l low the s ame pattern.  

FPZ :  M WG  FPZ :  M WG  
ZE P :  G LWZE P :  G LW

A nsA ns 1. 
2. 
3. 
4. 
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Q .2 9Q .2 9 A  paper  is  fo lded and c ut  as  s hown below.  How wi l l  i t  appear  when unfolded?  A  paper  is  fo lded and c ut  as  s hown below.  How wi l l  i t  appear  when unfolded?  

A nsA ns 1. 

2. 

3. 

4. 

Q .3 0Q .3 0 S,  P,  D,  F,  G  and N are s itt ing around a c irc ular  table fac ing the centre.  E xac t lyS,  P,  D,  F,  G  and N are s itt ing around a c irc ular  table fac ing the centre.  E xac t ly
two people s it  between S  and N when c ounted from the r ight  of N.  G  s its  to  thetwo people s it  between S  and N when c ounted from the r ight  of N.  G  s its  to  the
immediate r ight  of S.  D  s its  to  the immediate left  of  F.  Who is  s itt ing to  theimmediate r ight  of S.  D  s its  to  the immediate left  of  F.  Who is  s itt ing to  the
immediate r ight  of G ?immediate r ight  of G ?

A nsA ns 1. N
2. P
3. S
4. F
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Q .3 1Q .3 1 Three of the fo l lowing four  word- pairs  are a l ike in a  certain way  and thus  form aThree of the fo l lowing four  word- pairs  are a l ike in a  certain way  and thus  form a
group.  Whic h word- pair  DO E S  NO T belong to  that  group?group.  Whic h word- pair  DO E S  NO T belong to  that  group?
( The words  mus t be c ons idered as  meaningful  E ngl is h words  and mus t not  be( The words  mus t be c ons idered as  meaningful  E ngl is h words  and mus t not  be
related to  eac h other  bas ed on the number of letters/number ofrelated to  eac h other  bas ed on the number of letters/number of
c ons onants/vowels  in the word . )c ons onants/vowels  in the word . )

A nsA ns 1. Duck - Duckling
2. Horse - Cub
3. Squirrel - Kit
4. Polar Bear - Cub

Q .3 2Q .3 2 Bas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter-Bas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter-
c lus ters  are a l ike in a  certain way  and thus  form a group.  Whic h letter- c lus terc lus ters  are a l ike in a  certain way  and thus  form a group.  Whic h letter- c lus ter
DO E S  NO T belong to  that  group?DO E S  NO T belong to  that  group?
( Note:  The odd one out is  not  bas ed on the number of c ons onants/vowels  or  their( Note:  The odd one out is  not  bas ed on the number of c ons onants/vowels  or  their
pos it ion in the letter- c lus ter. )pos it ion in the letter- c lus ter. )

A nsA ns 1. EDG
2. KKM
3. TSV
4. JIL

Q .3 3Q .3 3 C A RD is  related to  IWFH in a  certain way  bas ed on the E ngl is h a lphabetic al  order.C A RD is  related to  IWFH in a  certain way  bas ed on the E ngl is h a lphabetic al  order.
In the s ame way ,  A BRUPT is  related to  YUZWG F.  To  whic h of the given options  isIn the s ame way ,  A BRUPT is  related to  YUZWG F.  To  whic h of the given options  is
DIG ITA L  related ,  fo l lowing the s ame logic ?  DIG ITA L  related ,  fo l lowing the s ame logic ?  

A nsA ns 1. 
2. 
3. 
4. 

Q .3 4Q .3 4 What wi l l  c ome in place of the ques t ion mark  ( ? )  in the fo l lowing equation if  ‘+ ’What wi l l  c ome in place of the ques t ion mark  ( ? )  in the fo l lowing equation if  ‘+ ’
and ‘−’ are interc hanged and ‘× ’ and ‘÷ ’ are interc hanged?and ‘−’ are interc hanged and ‘× ’ and ‘÷ ’ are interc hanged?
2 6 ×  2  − 4  ÷  7  + 6  = ?2 6 ×  2  − 4  ÷  7  + 6  = ?

A nsA ns 1. 41
2. 37
3. 28
4. 35
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Q .3 5Q .3 5 Refer  to  the fo l lowing letter  s er ies  and ans wer  the ques t ion that  fo l lows .Refer  to  the fo l lowing letter  s er ies  and ans wer  the ques t ion that  fo l lows .
C ounting to  be done from left  to  r ight  only .C ounting to  be done from left  to  r ight  only .

( L eft)  ( L eft)  O  O  F F D  D E  E  F F F F U U O  O  W W B  B  I  I  A  A  G  G  K K U U V  V  M  M  V  V  U U I  I  S  S  ( Right)( Right)

How many  s uc h vowels  are there eac h of whic h is  immediately  preceded by  aHow many  s uc h vowels  are there eac h of whic h is  immediately  preceded by  a
c ons onant and als o  immediately  fo l lowed by  a  c ons onant?c ons onant and als o  immediately  fo l lowed by  a  c ons onant?

A nsA ns 1. None
2. One
3. Three
4. Two

Q .3 6Q .3 6 S elec t  the s et  in whic h the numbers  are related in the s ame way  as  are theS elec t  the s et  in whic h the numbers  are related in the s ame way  as  are the
numbers  of the fo l lowing s ets .numbers  of the fo l lowing s ets .

( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing
down the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc hdown the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc h
as  adding /  s ubtrac t ing /  mult iply ing to  1 3  c an be performed.  Break ing down 1 3as  adding /  s ubtrac t ing /  mult iply ing to  1 3  c an be performed.  Break ing down 1 3
into  1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  notinto  1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not
al lowed . )a l lowed . )

( 1 5,2 6 ,70 )( 1 5,2 6 ,70 )
( 1 7,2 3,69)( 1 7,2 3,69)

A nsA ns 1. (19,23,67)
2. (35,5,69)
3. (23,19,69)
4. (27,11,71)
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Q .3 7Q .3 7 S ix  people,  A ,  B,  C ,  D,  E  and F,  s it  around a c irc ular  table fac ing towards  the centreS ix  people,  A ,  B,  C ,  D,  E  and F,  s it  around a c irc ular  table fac ing towards  the centre
( not neces s ar i ly  in the s ame order) .  E  s its  s ec ond to  the left  of  A .  D  is  an( not neces s ar i ly  in the s ame order) .  E  s its  s ec ond to  the left  of  A .  D  is  an
immediate neighbour  of both B  and A .  C  s its  to  the immediate r ight  of B.  Who s itsimmediate neighbour  of both B  and A .  C  s its  to  the immediate r ight  of B.  Who s its
to  the immediate left  of  F?to  the immediate left  of  F?

A nsA ns 1. D
2. E
3. B
4. C

Q .3 8Q .3 8 E ac h of the d igits  in the number 3 2 74 861  is  arranged in as cending order  fromE ac h of the d igits  in the number 3 2 74 861  is  arranged in as cending order  from
left  to  r ight .  The pos it ion(s)  of  how many  d igits  wi l l  remain unc hanged asleft  to  r ight .  The pos it ion(s)  of  how many  d igits  wi l l  remain unc hanged as
c ompared to  that  in the or iginal  number?c ompared to  that  in the or iginal  number?

A nsA ns 1. Three
2. None
3. One
4. Two

Q .3 9Q .3 9 What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?

2 6 ,  2 2 6 ,  62 6 ,  1 2 2 6 ,  2 0 2 6 ,  ?2 6 ,  2 2 6 ,  62 6 ,  1 2 2 6 ,  2 0 2 6 ,  ?
A nsA ns 1. 2826

2. 2926
3. 3126
4. 3026

Q .4 0Q .4 0 E ac h vowel  in the word JUM PING  is  c hanged to  the s ec ond letter  fo l lowing it  inE ac h vowel  in the word JUM PING  is  c hanged to  the s ec ond letter  fo l lowing it  in
the E ngl is h a lphabetic al  order  and eac h c ons onant is  c hanged to  the letterthe E ngl is h a lphabetic al  order  and eac h c ons onant is  c hanged to  the letter
immediately  preceding it  in the E ngl is h a lphabetic al  order.  How many  letters  wi l limmediately  preceding it  in the E ngl is h a lphabetic al  order.  How many  letters  wi l l
appear  exac t ly  twice in the letter- c lus ter  thus  formed?appear  exac t ly  twice in the letter- c lus ter  thus  formed?

A nsA ns 1. One

2. Two
3. Zero
4. Three

Section : General English and Comprehension
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Q .4 1Q .4 1 S elec t  the mos t appropr iate option to  fil l  in the blank .S elec t  the mos t appropr iate option to  fil l  in the blank .

S he wore a  ______ dres s  to  the party .S he wore a  ______ dres s  to  the party .
A nsA ns 1. milky

2. red
3. utile
4. joyous

Q .4 2Q .4 2 S elec t  the option that  c an be us ed as  a  one- word s ubs t itute for  the under l inedS elec t  the option that  c an be us ed as  a  one- word s ubs t itute for  the under l ined
group of words .group of words .

There were lots  of  things  we love about internet s earc h,  and it  gives  peopleThere were lots  of  things  we love about internet s earc h,  and it  gives  people
information and their  t ime bac k  bec aus e this  is  better,  fas ter  and moreinformation and their  t ime bac k  bec aus e this  is  better,  fas ter  and more
produc tive of des ired effec tsproduc tive of des ired effec ts..

A nsA ns 1. efficient
2. absorptive
3. exulting
4. itinerant

Q .43Q .43 S elec t  the mos t appropr iate option to  fil l  in the blank .S elec t  the mos t appropr iate option to  fil l  in the blank .
He is  s tudy ing hard ___ he c an pas s  the exam.He is  s tudy ing hard ___ he c an pas s  the exam.

A nsA ns 1. so that
2. therefore
3. because
4. otherwise

Q .4 4Q .4 4 S elec t  the mos t appropr iate meaning of the given id iom.S elec t  the mos t appropr iate meaning of the given id iom.

Dr ink  l ike a  fis hDrink  l ike a  fis h
A nsA ns 1. One who is an important person but on an insignificant scale

2. A matter or a situation that needs to be dealt with
3. When one tends to consume large quantity of alcoholic beverages
4. One who is an important person in a small group

https://applink.adda247.com/d/XhqWf9lSap
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Q .4 5Q .4 5 S elec t  the mos t appropr iate A NTO NYM  of the given word .S elec t  the mos t appropr iate A NTO NYM  of the given word .

Pro l ixProl ix
A nsA ns 1. Melodic

2. Concise
3. Fragrant
4. Rigid

C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow.

Watching someone yawn often makes you yawn too—even reading about yawning can
trigger it. A new study suggests that contagious yawning is linked to empathy and social
bonding. Children don’t typically develop this behaviour until around age four, and those
with autism are about half as likely to yawn in response to others. In severe cases, they
may never do so. This discovery could help doctors diagnose developmental disorders and
better understand subtle human connections. Molly Helt, a clinical psychology graduate
student at the University of Connecticut, was inspired by her autistic son, who didn’t yawn
back when she tried to help him clear his ears during a flight. “Autistic kids might be
missing that unconscious emotional link,” she said. Helt emphasised that understanding
others’ minds is a key part of human development—a trait autistic individuals often
struggle with. Yawning, she suggests, may reflect a deeper instinct for emotional
connection.

S ubQ ues t ion No :  4 6S ubQ ues t ion No :  4 6
Q .4 6Q .4 6 A cc ording to  the pas s age,  at  what age do c hi ldren ty pic al ly  begin to  s howA cc ording to  the pas s age,  at  what age do c hi ldren ty pic al ly  begin to  s how

c ontagious  y awning behaviour?c ontagious  y awning behaviour?
A nsA ns 1. During teenage years

2. After age six
3. Around age two
4. Around age four
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C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow.

Watching someone yawn often makes you yawn too—even reading about yawning can
trigger it. A new study suggests that contagious yawning is linked to empathy and social
bonding. Children don’t typically develop this behaviour until around age four, and those
with autism are about half as likely to yawn in response to others. In severe cases, they
may never do so. This discovery could help doctors diagnose developmental disorders and
better understand subtle human connections. Molly Helt, a clinical psychology graduate
student at the University of Connecticut, was inspired by her autistic son, who didn’t yawn
back when she tried to help him clear his ears during a flight. “Autistic kids might be
missing that unconscious emotional link,” she said. Helt emphasised that understanding
others’ minds is a key part of human development—a trait autistic individuals often
struggle with. Yawning, she suggests, may reflect a deeper instinct for emotional
connection.

S ubQ ues t ion No :  47S ubQ ues t ion No :  47
Q .47Q .47 Whic h of the fo l lowing would  be the mos t appropr iate t it le for  the pas s age?Whic h of the fo l lowing would  be the mos t appropr iate t it le for  the pas s age?
A nsA ns 1. How to Stop Contagious Yawning in Public

2. The Surprising Link Between Yawning and Empathy
3. New Techniques for Teaching Autistic Children to Yawn
4. Yawning and Sleep Patterns in Children
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C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow.

Watching someone yawn often makes you yawn too—even reading about yawning can
trigger it. A new study suggests that contagious yawning is linked to empathy and social
bonding. Children don’t typically develop this behaviour until around age four, and those
with autism are about half as likely to yawn in response to others. In severe cases, they
may never do so. This discovery could help doctors diagnose developmental disorders and
better understand subtle human connections. Molly Helt, a clinical psychology graduate
student at the University of Connecticut, was inspired by her autistic son, who didn’t yawn
back when she tried to help him clear his ears during a flight. “Autistic kids might be
missing that unconscious emotional link,” she said. Helt emphasised that understanding
others’ minds is a key part of human development—a trait autistic individuals often
struggle with. Yawning, she suggests, may reflect a deeper instinct for emotional
connection.

S ubQ ues t ion No :  4 8S ubQ ues t ion No :  4 8
Q .4 8Q .4 8 How is  the pas s age s truc tured?How is  the pas s age s truc tured?
A nsA ns 1. A debate between two opposing views on yawning

2. A fictional story followed by a list of symptoms
3. A cause-effect explanation supported by a personal anecdote and scientific study
4. A sequence of unrelated facts about yawning

https://applink.adda247.com/d/XhqWf9lSap
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C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow.

Watching someone yawn often makes you yawn too—even reading about yawning can
trigger it. A new study suggests that contagious yawning is linked to empathy and social
bonding. Children don’t typically develop this behaviour until around age four, and those
with autism are about half as likely to yawn in response to others. In severe cases, they
may never do so. This discovery could help doctors diagnose developmental disorders and
better understand subtle human connections. Molly Helt, a clinical psychology graduate
student at the University of Connecticut, was inspired by her autistic son, who didn’t yawn
back when she tried to help him clear his ears during a flight. “Autistic kids might be
missing that unconscious emotional link,” she said. Helt emphasised that understanding
others’ minds is a key part of human development—a trait autistic individuals often
struggle with. Yawning, she suggests, may reflect a deeper instinct for emotional
connection.

S ubQ ues t ion No :  4 9S ubQ ues t ion No :  4 9
Q .4 9Q .4 9 What c an be inferred about the ro le of  y awning in human interac t ion,  bas ed onWhat c an be inferred about the ro le of  y awning in human interac t ion,  bas ed on

the pas s age?the pas s age?
A nsA ns 1. Yawning might be an unconscious tool for emotional connection.

2. Yawning is purely a physical response to lack of oxygen.
3. Yawning serves no social purpose in humans.
4. Yawning is more frequent in children with autism.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow.

Watching someone yawn often makes you yawn too—even reading about yawning can
trigger it. A new study suggests that contagious yawning is linked to empathy and social
bonding. Children don’t typically develop this behaviour until around age four, and those
with autism are about half as likely to yawn in response to others. In severe cases, they
may never do so. This discovery could help doctors diagnose developmental disorders and
better understand subtle human connections. Molly Helt, a clinical psychology graduate
student at the University of Connecticut, was inspired by her autistic son, who didn’t yawn
back when she tried to help him clear his ears during a flight. “Autistic kids might be
missing that unconscious emotional link,” she said. Helt emphasised that understanding
others’ minds is a key part of human development—a trait autistic individuals often
struggle with. Yawning, she suggests, may reflect a deeper instinct for emotional
connection.

S ubQ ues t ion No :  50S ubQ ues t ion No :  50
Q . 50Q . 50 What is  the central  theme of the pas s age?What is  the central  theme of the pas s age?
A nsA ns 1. Yawning may be an indicator of empathy and social connection.

2. Contagious yawning is a way to cure autism.
3. Children under the age of four yawn more often than adults.
4. Yawning can be used as a teaching tool for children on airplanes.

Section : General Hindi and Comprehension
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Q . 51Q . 51 [द ए[द ए   ग एग ए   वा aवा a   कोको   उ प युhउ प युh   िj यािj या   kवशेष णkवशेष ण   केके   pा राpा रा   प ूराप ूरा   कs tजएकs tजए  । ।

बxाबxा  ________  ________ थकथक   ग याग या
A nsA ns 1. ऊँघते-ऊँघते

2. सोते-सोते
3. बैठे-बैठे
4. दौड़ते-दौड़ते

Q . 52Q . 52 '' एaएa ' '  काका   kवलो मkवलो म   श�श�   हो गाहो गा
A nsA ns 1. ऋजु

2. कृश
3. कोप
4. अनैa

Q . 53Q . 53 kन�tल�ख तkन�tल�ख त   kवक ��kवक ��   म�म�   सेसे  ‘ ‘ �ा तः�ा तः ’ ’ काका   kवलो मkवलो म   श�श�   कौ नकौ न -- सासा   हैहै ??
A nsA ns 1. pैष

2. सायं
3. अं�
4. अ�सम

Q . 54Q . 54 मुहा वरेमुहा वरे   केके   सहीसही   अथ�अथ�   काका   चयनचयन   क र�क र� --
‘‘ अंग दअंग द   काका   प ैरप ैर   हो नाहो ना ’’

A nsA ns 1. अनुभवहीन होना
2. अ�� �ढ़ होना
3. मजबूत होना
4. खतरनाक काय� करना

Q . 55Q . 55 '' चो रचो र   केके   प ैरप ैर   नह�नह�   हो त ेहो त े '  '  लो को �hलो को �h   काका   अथ�अथ�   aाaा   हो ताहो ता   हैहै --
A nsA ns 1. अपराध से �ाkन म� रहना।

2. अपराध से एक त म� रहना।
3. अपराधी म� साहस नह� होता है।
4. बुरे  के साथ अ¡र बुरा ही होता है।
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C omprehens ion:C omprehens ion:
इस ग£ श को पढ़कर पूछे गए �¥� के उ¦र दीtजए :
'हमारे सपन� कs इमारत� के सुनहरे गुंबद िकतने मोहक होते ह§। दूर के स¨दय�मंिडत पव�त-tशखर कs तरह वे हमारª
आँख� म� समा जाते ह§ और बरबस हम� अपनी ओर ख�चते ह§। मगर tजतना ही हम उनके kनकट पहँुचने कs कोtशश
करते ह§, वे उतनी ही दूर नजर आने लगते ह§। थककर अकसर हम हताश हो जाते ह§, कभी-कभी नए रा¯� पर भी
चलने लगते ह§। इसे इंसान कs कमजोरª ही समझना चा[हए, a�िक कम� कs साथ�कता फल म� नह�, कम�²ता म� है;
उस पु´षाथ� म� है जो एक-एक कदम कs गkत, एक-एक इंच कs चढ़ाई का आनंद लेता है। वा¯व म� चढ़ाई के �य¶
का सुख अपने-आपम� ही इतना मीठा है िक उसकs तृ·¸ कs कोई सीमा नह�। मनु¹ जीवन ही ऐसा है िक वह िकसी
भी अव»ा म� यह अनुभव नह� कर सकता िक अब उसके tलए कोई आव¼कता नह� रह गई है।'

S ubQ ues t ion No :  56S ubQ ues t ion No :  56
Q . 56Q . 56 इसइस   ग £  शग £  श   केके   tलएtलए   उ प युhउ प युh   शी ष �कशी ष�क   चुन�चुन�  - -
A nsA ns 1. �य¶ का सुख

2. पहाड़ कs चढ़ाई
3. दूर के �¼
4. स¨दय� का दश�न

C omprehens ion:C omprehens ion:
इस ग£ श को पढ़कर पूछे गए �¥� के उ¦र दीtजए :
'हमारे सपन� कs इमारत� के सुनहरे गुंबद िकतने मोहक होते ह§। दूर के स¨दय�मंिडत पव�त-tशखर कs तरह वे हमारª
आँख� म� समा जाते ह§ और बरबस हम� अपनी ओर ख�चते ह§। मगर tजतना ही हम उनके kनकट पहँुचने कs कोtशश
करते ह§, वे उतनी ही दूर नजर आने लगते ह§। थककर अकसर हम हताश हो जाते ह§, कभी-कभी नए रा¯� पर भी
चलने लगते ह§। इसे इंसान कs कमजोरª ही समझना चा[हए, a�िक कम� कs साथ�कता फल म� नह�, कम�²ता म� है;
उस पु´षाथ� म� है जो एक-एक कदम कs गkत, एक-एक इंच कs चढ़ाई का आनंद लेता है। वा¯व म� चढ़ाई के �य¶
का सुख अपने-आपम� ही इतना मीठा है िक उसकs तृ·¸ कs कोई सीमा नह�। मनु¹ जीवन ही ऐसा है िक वह िकसी
भी अव»ा म� यह अनुभव नह� कर सकता िक अब उसके tलए कोई आव¼कता नह� रह गई है।'

S ubQ ues t ion No :  57S ubQ ues t ion No :  57
Q . 57Q . 57 � ¯ुत� ¯ुत   ग £  शग £  श   काका   के ½ी यके ½ी य   भा वभा व   हैहै  – –
A nsA ns 1. ल¾ छोड़ देना

2. कम�रत रहने कs �ेरणा
3. पव�त tशखर का दश�न
4. कम�kवरत हो जाने कs �ेरणा
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C omprehens ion:C omprehens ion:
इस ग£ श को पढ़कर पूछे गए �¥� के उ¦र दीtजए :
'हमारे सपन� कs इमारत� के सुनहरे गुंबद िकतने मोहक होते ह§। दूर के स¨दय�मंिडत पव�त-tशखर कs तरह वे हमारª
आँख� म� समा जाते ह§ और बरबस हम� अपनी ओर ख�चते ह§। मगर tजतना ही हम उनके kनकट पहँुचने कs कोtशश
करते ह§, वे उतनी ही दूर नजर आने लगते ह§। थककर अकसर हम हताश हो जाते ह§, कभी-कभी नए रा¯� पर भी
चलने लगते ह§। इसे इंसान कs कमजोरª ही समझना चा[हए, a�िक कम� कs साथ�कता फल म� नह�, कम�²ता म� है;
उस पु´षाथ� म� है जो एक-एक कदम कs गkत, एक-एक इंच कs चढ़ाई का आनंद लेता है। वा¯व म� चढ़ाई के �य¶
का सुख अपने-आपम� ही इतना मीठा है िक उसकs तृ·¸ कs कोई सीमा नह�। मनु¹ जीवन ही ऐसा है िक वह िकसी
भी अव»ा म� यह अनुभव नह� कर सकता िक अब उसके tलए कोई आव¼कता नह� रह गई है।'

S ubQ ues t ion No :  58S ubQ ues t ion No :  58
Q . 58Q . 58 � ¯ुत� ¯ुत   ग £  शग £  श   म�म�  ' ' हता शहता श '  '  श�श�   काका   अथ�अथ�   हैहै  – –
A nsA ns 1. आशा का ¿ीण होना

2. आशा का पूरा न होना
3. kनराश होना
4. आशा का मर जाना

C omprehens ion:C omprehens ion:
इस ग£ श को पढ़कर पूछे गए �¥� के उ¦र दीtजए :
'हमारे सपन� कs इमारत� के सुनहरे गुंबद िकतने मोहक होते ह§। दूर के स¨दय�मंिडत पव�त-tशखर कs तरह वे हमारª
आँख� म� समा जाते ह§ और बरबस हम� अपनी ओर ख�चते ह§। मगर tजतना ही हम उनके kनकट पहँुचने कs कोtशश
करते ह§, वे उतनी ही दूर नजर आने लगते ह§। थककर अकसर हम हताश हो जाते ह§, कभी-कभी नए रा¯� पर भी
चलने लगते ह§। इसे इंसान कs कमजोरª ही समझना चा[हए, a�िक कम� कs साथ�कता फल म� नह�, कम�²ता म� है;
उस पु´षाथ� म� है जो एक-एक कदम कs गkत, एक-एक इंच कs चढ़ाई का आनंद लेता है। वा¯व म� चढ़ाई के �य¶
का सुख अपने-आपम� ही इतना मीठा है िक उसकs तृ·¸ कs कोई सीमा नह�। मनु¹ जीवन ही ऐसा है िक वह िकसी
भी अव»ा म� यह अनुभव नह� कर सकता िक अब उसके tलए कोई आव¼कता नह� रह गई है।'

S ubQ ues t ion No :  59S ubQ ues t ion No :  59
Q . 59Q . 59 � ¯ुत� ¯ुत   ग £  शग £  श   कsकs   संर चनासंर चना   हैहै  - -
A nsA ns 1. भावाÀक

2. ÁचÂाÀक
3. काÃाÀक
4. kवÄेषणाÀक
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C omprehens ion:C omprehens ion:
इस ग£ श को पढ़कर पूछे गए �¥� के उ¦र दीtजए :
'हमारे सपन� कs इमारत� के सुनहरे गुंबद िकतने मोहक होते ह§। दूर के स¨दय�मंिडत पव�त-tशखर कs तरह वे हमारª
आँख� म� समा जाते ह§ और बरबस हम� अपनी ओर ख�चते ह§। मगर tजतना ही हम उनके kनकट पहँुचने कs कोtशश
करते ह§, वे उतनी ही दूर नजर आने लगते ह§। थककर अकसर हम हताश हो जाते ह§, कभी-कभी नए रा¯� पर भी
चलने लगते ह§। इसे इंसान कs कमजोरª ही समझना चा[हए, a�िक कम� कs साथ�कता फल म� नह�, कम�²ता म� है;
उस पु´षाथ� म� है जो एक-एक कदम कs गkत, एक-एक इंच कs चढ़ाई का आनंद लेता है। वा¯व म� चढ़ाई के �य¶
का सुख अपने-आपम� ही इतना मीठा है िक उसकs तृ·¸ कs कोई सीमा नह�। मनु¹ जीवन ही ऐसा है िक वह िकसी
भी अव»ा म� यह अनुभव नह� कर सकता िक अब उसके tलए कोई आव¼कता नह� रह गई है।'

S ubQ ues t ion No :  60S ubQ ues t ion No :  60
Q .60Q .60 � ¯ुत� ¯ुत   ग £  शग £  श   म�म�   � युh� युh  ' ' स¨ द य�मंिड तस¨ द य�मंिड त '  '  काका   अथ�अथ�   हैहै  – –
A nsA ns 1. स¨दय� से उभरा हुआ

2. स¨दय� से कटा हुआ
3. स¨दय� से दबा हुआ
4. स¨दय� से फूला हुआ

Q .61Q .61 Whic h of the fo l lowing is  NO T a ty pe of tec hnique for  provid ing c omputerWhic h of the fo l lowing is  NO T a ty pe of tec hnique for  provid ing c omputer
s ec ur ity ?s ec ur ity ?

A nsA ns 1. Authentication
2. Document verification
3. Cryptography
4. Authorisation

Q .62Q .62 If  we want to  begin a  new l ine of text  without s tart ing a new paragraph in M SIf  we want to  begin a  new l ine of text  without s tart ing a new paragraph in M S
Word ,  whic h key (s)  is/are us ed?Word ,  whic h key (s)  is/are us ed?

A nsA ns 1. Shift + Enter
2. Enter
3. Tab
4. Shift + Tab

Section : Basic Knowledge of Computer
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Q .63Q .63 WhatWhat  is  the func t ion of an  is  the func t ion of an Intrus ion Detec t ion S y s tem ( IDS ) ?Intrus ion Detec t ion S y s tem ( IDS ) ?
A nsA ns 1. Detect and alert administrators about potential security breaches

2. Prevent data loss
3. Encrypt sensitive data
4. Manage network traffic

Q .64Q .64
A nsA ns 1. 

2. 
3. 
4. 

Q .65Q .65 A n email  c l ient  c an be us ed to :A n email  c l ient  c an be us ed to :
A nsA ns 1. send and receive emails

2. access the internet
3. edit MS Word documents
4. browse websites

Q .66Q .66 Whic h of the fo l lowing al lows  a us er  to  s earc h for  C l ip A rt  d irec t ly  within M SWhic h of the fo l lowing al lows  a us er  to  s earc h for  C l ip A rt  d irec t ly  within M S
PowerPoint?PowerPoint?

A nsA ns 1. Insert > Online Pictures
2. Design > Slide Size
3. Home > Find
4. View > Notes Page

Q .67Q .67 To s end an email  to  s omeone who is  not  on the 'To '  or  'C c '  l is t ,  whic h of theTo s end an email  to  s omeone who is  not  on the 'To '  or  'C c '  l is t ,  whic h of the
fo l lowing options  mus t a  us er  s elec t?fo l lowing options  mus t a  us er  s elec t?

A nsA ns 1. Reply
2. Forward
3. Resend
4. Reply All
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Q .68Q .68 When reply ing to  a  thread of emai ls ,  i t  is  general ly  rec ommended to :When reply ing to  a  thread of emai ls ,  i t  is  general ly  rec ommended to :
A nsA ns 1. delete the original message and start a new thread

2. quote the entire original message to provide context
3. reply to all recipients, regardless of their relevance
4. quote only the relevant parts of the original message

Q .69Q .69 Whic h option in M S  Word al lows  us ers  to  c reate a  l is t  of  predefined items  thatWhic h option in M S  Word al lows  us ers  to  c reate a  l is t  of  predefined items  that
us ers  c an ins ert  into  a  doc ument repeatedly  without having to  rety pe them eac hus ers  c an ins ert  into  a  doc ument repeatedly  without having to  rety pe them eac h
time?time?

A nsA ns 1. AutoFormat
2. AutoCorrect
3. Quick Parts
4. AutoText

Q .70Q .70
A nsA ns 1. 

2. 
3. 
4. 

Q .71Q .71

A nsA ns 1. 
2. 
3. 
4. 

Q .72Q .72 Whic h of the fo l lowing options  is  NO T pres ent under  ins ert  Date and T ime in anWhic h of the fo l lowing options  is  NO T pres ent under  ins ert  Date and T ime in an
M S  PowerPoint  pres entat ion?M S  PowerPoint  pres entat ion?

A nsA ns 1. Language
2. Update automatically

3. Update by user
4. Fixed
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Q .73Q .73 How c an one quic k ly  c reate a  s equence of numbers  s tart ing from 1 0  andHow c an one quic k ly  c reate a  s equence of numbers  s tart ing from 1 0  and
inc reas ing by  5 us ing the S er ies  d ia log box in M S  E xcel  2 0 1 0 ?inc reas ing by  5 us ing the S er ies  d ia log box in M S  E xcel  2 0 1 0 ?

A nsA ns 1. Select the cells > Right-click > Series
2. Data > Create Sequence > Step Value = 5, Starting Value = 10
3. Home > Fill > Series > Step Value = 5, Starting Value = 10
4. Formulas > Create Series > Set increment to 5

            

Q .74Q .74 Whic h ty pe of c omputer  v irus  s preads  through email  attac hments  and infec tsWhic h ty pe of c omputer  v irus  s preads  through email  attac hments  and infec ts
c omputers  when opened?c omputers  when opened?

A nsA ns 1. Logic Bomb
2. Worm
3. Trojan Horse
4. Macro Virus

Q .75Q .75 Whic h of the fo l lowing items  is  NO T avai lable in M S - Word?Whic h of the fo l lowing items  is  NO T avai lable in M S - Word?
A nsA ns 1. Italic

2. Bold
3. Underline
4. Magic tool

Q .76Q .76 When c ompos ing an email  mes s age,  whic h of the fo l lowing key board s hortc uts  isWhen c ompos ing an email  mes s age,  whic h of the fo l lowing key board s hortc uts  is
us ed to  ins ert  a  hy per l ink  into  the mes s age as  an attac hment?us ed to  ins ert  a  hy per l ink  into  the mes s age as  an attac hment?

A nsA ns 1. Ctrl + l
2. Ctrl + Shift + 2
3. Ctrl + K
4. Ctrl + L

Q .77Q .77
A nsA ns 1. 

2. 
3. 
4. 
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Q .78Q .78 What is  the pr imary  benefit of enabl ing two- fac tor  authentic at ion ( 2 FA)  on aWhat is  the pr imary  benefit of enabl ing two- fac tor  authentic at ion ( 2 FA)  on a
s martphone?s martphone?

A nsA ns 1. Additional security layer against unauthorised access
2. Increased password strength
3. Faster app performance
4. Improved battery life

Q .79Q .79 Whic h of the fo l lowing func t ions  is  us ed to  addres s  a  cel l  in another  s heet in theWhic h of the fo l lowing func t ions  is  us ed to  addres s  a  cel l  in another  s heet in the
s ame workbook  in M S  E xcel?s ame workbook  in M S  E xcel?

A nsA ns 1. Sheet address!Cell address
2. Sheet address!Cell column
3. Sheet row!Cell address
4. Sheet name!Cell address

Q .80Q .80 S elec t  the c orrec t  s tatement regarding Brows er  Hi jac ker  (a  c omputer  v irus) ?S elec t  the c orrec t  s tatement regarding Brows er  Hi jac ker  (a  c omputer  v irus) ?
A nsA ns 1. This virus attacks web browser security, enabling a hacker to inject web-pages with

malicious code or client-side scripting.

2. It can also contain adware that causes unwanted pop-ups and advertisements.
3. These are extremely dangerous because they can completely cripple entire computer

networks.
4. This is one of the most common computer viruses. It overwrites files when they are

opened and can quickly spread across systems and networks.

Q .81Q .81 The average of 6 . 5,  1 0 .6 ,  1 9 .7  and a is  1 3.  The value of a  is :The average of 6 . 5,  1 0 .6 ,  1 9 .7  and a is  1 3.  The value of a  is :
A nsA ns 1. 16.2

2. 17.2
3. 15.2
4. 14.2

Section : Quantitative Aptitude
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Q .82Q .82
A nsA ns 1. 24

2. 16
3. 25
4. 30

Q .83Q .83

A nsA ns 1. 492
2. 500
3. 494
4. 495

Q .84Q .84 A  s c ooter is t  travels  at  the s peed of 4 2  km/ hr  for  3  hours  and at  the s peed of 4 8A  s c ooter is t  travels  at  the s peed of 4 2  km/ hr  for  3  hours  and at  the s peed of 4 8
km/ hr for  2  hours .  F ind the average s peed ( in km/ hr)  of  the s c ooter is t .km/ hr  for  2  hours .  F ind the average s peed ( in km/ hr)  of  the s c ooter is t .

A nsA ns 1. 43.2 
2. 44.9
3. 44.4
4. 43.8

Q .85Q .85 The pres ent age of Rames h is  three t imes  the s um of the ages  of his  threeThe pres ent age of Rames h is  three t imes  the s um of the ages  of his  three
c hi ldren.  A fter  2 5 y ears ,  his  age wi l l  be equal  to  the s um of ages  of his  c hi ldren.c hi ldren.  A fter  2 5 y ears ,  his  age wi l l  be equal  to  the s um of ages  of his  c hi ldren.
Find the pres ent age of Rames h.Find the pres ent age of Rames h.

A nsA ns 1. 55 years

2. 85 years
3. 75 years
4. 65 years

Q .86Q .86 In an elec t ion between two c andidates ,  95% of the regis tered voters  c as t  theirIn an elec t ion between two c andidates ,  95% of the regis tered voters  c as t  their
vote and 2 0 % of the votes  pol led  were found inval id .  The winning c andidate gotvote and 2 0 % of the votes  pol led  were found inval id .  The winning c andidate got
55% of the val id  votes  and won the elec t ion by  a  margin of 1 976 votes .  How many55% of the val id  votes  and won the elec t ion by  a  margin of 1 976 votes .  How many
voters  were regis tered?voters  were regis tered?

A nsA ns 1. 25997
2. 26000
3. 26001
4. 26002
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Q .87Q .87 A  c an c omplete a  work  in 1 2  day s  and B  in 1 6  day s .  I f  they  work  on it  together  forA  c an c omplete a  work  in 1 2  day s  and B  in 1 6  day s .  I f  they  work  on it  together  for
3  day s ,  then the amount of the work  left  is :3  day s ,  then the amount of the work  left  is :

A nsA ns 1. 
           

2 . 

3. 
            

4. 
           

Q .88Q .88 A  boat ’s  s peed in s t i l l  water  is  1 0  km/ hr,  whi le the r iver  is  fl owing at  a  s peed of 2A  boat ’s  s peed in s t i l l  water  is  1 0  km/ hr,  whi le the r iver  is  fl owing at  a  s peed of 2
km/ hr.  The t ime taken to  c over  a  certain d is tance ups tream is  5 hours  more thankm/ hr.  The t ime taken to  c over  a  certain d is tance ups tream is  5 hours  more than
time taken to  c over  the s ame d is tance downs tream.  Find the d is tance.t ime taken to  c over  the s ame d is tance downs tream.  Find the d is tance.

A nsA ns 1. 110 km
2. 120 km
3. 100 km
4. 130 km

Q .89Q .89 Find the value of the given expres s ion.Find the value of the given expres s ion.

0 .92  ×  0 .92  − 0 .0 8 ×  0 .0 80 .92  ×  0 .92  − 0 .0 8 ×  0 .0 8
A nsA ns 1. 1

2. 0.92

3. 0.08
4. 0.84

Q .90Q .90 The age of Kalpana after  1 2  y ears  from now wi l l  be 4 0  y ears .  Jy ot i  is  7  y earsThe age of Kalpana after  1 2  y ears  from now wi l l  be 4 0  y ears .  Jy ot i  is  7  y ears
y ounger  than Kalpana.  The rat io  of  the pres ent ages  of Jy ot i  and C hanc hal  is  3  :  5 .y ounger  than Kalpana.  The rat io  of  the pres ent ages  of Jy ot i  and C hanc hal  is  3  :  5 .
How o ld  was  C hanc hal  1 0  y ears  ago?How old  was  C hanc hal  1 0  y ears  ago?

A nsA ns 1. 24 years
2. 23 years
3. 26 years
4. 25 years
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Q .91Q .91 Neha s aves  y % of her  inc ome.  I f  her  inc ome inc reas es  by  3 0 % and theNeha s aves  y % of her  inc ome.  I f  her  inc ome inc reas es  by  3 0 % and the
expenditure inc reas es  by  2 5%, her  s av ings  inc reas e by  4 0 %.  What is  the value ofexpenditure inc reas es  by  2 5%, her  s av ings  inc reas e by  4 0 %.  What is  the value of
y ?  ( Rounded up to  two dec imal  places)y ?  ( Rounded up to  two dec imal  places)

A nsA ns 1. 35.23
2. 42.25
3. 25.25
4. 33.33

Q .92Q .92 The or iginal  pr ice of a  mus ic  s et  is  ₹8 ,1 0 0 .  The pr ice is  d is c ounted by  2 0 % andThe or iginal  pr ice of a  mus ic  s et  is  ₹8 ,1 0 0 .  The pr ice is  d is c ounted by  2 0 % and
then rais ed by  2 5%.  What is  its  new pr ice ( in ₹) ?then rais ed by  2 5%.  What is  its  new pr ice ( in ₹) ?

A nsA ns 1. 7,400
2. 8,600
3. 7,600
4. 8,100

Q .93Q .93 The s um of five numbers  is  655.  The average of the firs t  two numbers  is  76  andThe s um of five numbers  is  655.  The average of the firs t  two numbers  is  76  and
the third  number is  1 1 3.  F ind the average of the remaining two numbers?the third  number is  1 1 3.  F ind the average of the remaining two numbers?

A nsA ns 1. 196
2. 190
3. 189
4. 195

Q .94Q .94 A  merc hant offers  a  d is c ount of 4 0 % on the l is t  pr ice,  due to  whic h s he makes  aA  merc hant offers  a  d is c ount of 4 0 % on the l is t  pr ice,  due to  whic h s he makes  a
los s  of  1 6%.  What percentage of profit or  los s  wi l l  s he make if  s he s el ls  at  alos s  of  1 6%.  What percentage of profit or  los s  wi l l  s he make if  s he s el ls  at  a
d is c ount of 2 0 % of the l is t  pr ice?dis c ount of 2 0 % of the l is t  pr ice?

A nsA ns 1. 10% profit
2. 10% loss
3. 12% loss
4. 12% profit
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Q .95Q .95 In a  c hemic al  indus try ,  there is  a  tank  in whic h 2  c hemic als ,  A  and B,  are mixedIn a  c hemic al  indus try ,  there is  a  tank  in whic h 2  c hemic als ,  A  and B,  are mixed
together.  The c hemic als  are s uppl ied  by  2  pipes  whic h c an fil l  the tank  in 3 0  andtogether.  The c hemic als  are s uppl ied  by  2  pipes  whic h c an fil l  the tank  in 3 0  and
2 0  minutes ,  res pec t ively .  A  third  pipe c arr ies  the mixture from the tank  at  the2 0  minutes ,  res pec t ively .  A  third  pipe c arr ies  the mixture from the tank  at  the
rate of 4  l itres  per  minute.  A l l  the three pipes  work ing together  c an fil l  the tankrate of 4  l itres  per  minute.  A l l  the three pipes  work ing together  c an fil l  the tank
in 1 5 minutes .  The c apac ity  of  the tank  ( in l itres)  is :in 1 5 minutes .  The c apac ity  of  the tank  ( in l itres)  is :

A nsA ns 1. 240
2. 420
3. 120
4. 360

Q .96Q .96 The s el l ing pr ice of 50  books  is  equal  to  the c os t  pr ice of 3 4  books .  F ind the los sThe s el l ing pr ice of 50  books  is  equal  to  the c os t  pr ice of 3 4  books .  F ind the los s
or  gain percentage.or  gain percentage.

A nsA ns 1. 

2. 

3. 
4. 

Q .97Q .97
A nsA ns 1. 

2. 
3. 
4. 

Q .98Q .98 Deepak 's  s alary  is  firs t  inc reas ed by  4 0 %, then dec reas ed by  3 5%, and againDeepak 's  s alary  is  firs t  inc reas ed by  4 0 %, then dec reas ed by  3 5%, and again
inc reas ed by  2 5%.  The net  c hange in his  s alary  wi l l  be:inc reas ed by  2 5%.  The net  c hange in his  s alary  wi l l  be:

A nsA ns 1. a 12.25% decrease
2. a 13.75% increase
3. an 11% increase
4. a 13% decrease
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Q .99Q .99 The pr ice of a  c hair  is  marked at  ₹2 ,3 0 0 .  A  s hopkeeper  earns  a  profit of 2 0 %The pr ice of a  c hair  is  marked at  ₹2 ,3 0 0 .  A  s hopkeeper  earns  a  profit of 2 0 %
after  a l lowing a d is c ount of 2 0 % on the marked pr ice.  F ind the c os t  of  the c hairafter  a l lowing a d is c ount of 2 0 % on the marked pr ice.  F ind the c os t  of  the c hair
(c orrec t  to  two dec imal  places) .(c orrec t  to  two dec imal  places) .

A nsA ns 1. ₹1,533.33
2. ₹1,633.00
3. ₹1,733.40
4. ₹1,453.50

Q .1 0 0Q .1 0 0 A  s hopkeeper  owns  a c offee s hop.  In February  2 0 24 ,  550 0  hot c hoc olates  wereA  s hopkeeper  owns  a c offee s hop.  In February  2 0 24 ,  550 0  hot c hoc olates  were
s old .  The number of hot  c hoc olates  s o ld  in M arc h 2 0 24  was  6% les s .  How manys old .  The number of hot  c hoc olates  s o ld  in M arc h 2 0 24  was  6% les s .  How many
hot c hoc olates  were s o ld  in M arc h 2 0 24 ?hot c hoc olates  were s o ld  in M arc h 2 0 24 ?

A nsA ns 1. 5550
2. 5170
3. 5280
4. 5720
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